Géavleborgs BF
RealXcup6 2022-04-10

Partavling, 6 bord, 11 par.

Antal brickor: 27. Medel: 107.6. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 1 132.8 61.49 My Skold - Rosémarie Palm 14873 88897 Bollnads BK
2 11 1248 57.78 Marton Loke - Mats Andersson 15691 16630 Sandvikens BK - BK S:t Erik
3 3 118.6 54.92 Bo Ericson - Joakim Ericson 2962 26279 Gavle BK
4 7 112.8 52.23 Kjell Holmgren - Leif Holmgren 3368 12330 Bollnas BK
5 6 108.0 50.01 Peter Larsson - Dag Larsson 33870 92611 Sandvikens BK - S6derhamns BS
6 5 106.1 49.11 Vera Enbarr - Jonas Rosén 3045 15391 Sandvikens BK
7 2 103.3  47.82 Anna Lundvall - Maj-Britt Lundberg 83993 88972 Gavle BK
8 4 96.1 44.49  Marianne Melchior Ericson - Ann Fagerberg 17146 88969 Skutskars BK
9 8 94.7 43.83 Hans Lindstrém - Helena Lindstrém 28580 28171 Skutskars BK
10 9 94.5 43.75 Kent Maltein - Tore Enbarr 15967 3044  Sandvikens BK
11 10 91.4 42.32  Eleonore Kronbéck - Gunnar Séderling 30328 20009 Sandvikens BK
1 46 Basta kontrakt 2 & KKn65 Basta kontrakt 3 » DKn964 Basta kontrakt
Nord v 65 74 N D -4 -800 Ost v Kn5 5¢v O =-450 Syd v DKn5 3¢ S =110
Ingen + K102 NS + Kn10762 ov + EKn86
#EKD10832 & ¢ v & NT #65 & ¢ v & NT &3 & ¢ v & NT
4 ED9543 41082 N9 4112 41097 483 NO6 050 4 K873 4 E1052 N8 96 66
v EKKn v D9843 S94126 v43 vEKD1082 S 0 6 0 5 0 v10932 vEK7 S 8966 6
+8 ¢ DKn953 04 7 12114 + K98 ¢ED O 117 118 9 +95 ¢ K103 054677
#654 »- V 47 12114 #ED974 K103 vV 117 118 9 #1064 &KKn2 V54677
& KKn7 4 ED42 a-
v 1072 v 976 v 864
+E764 ¢ 543 + D742
#Kn97 #Kn82 #ED9875
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
1 2 44 N-1 a2 -50 8.0 0.0 1 2 49 0+3 v6 -510 4.0 4.0 3 4 44DV-3 &3 800 8.0 0.0
9 10 54DN-1 42 -100 6.0 2.0 3 4 4vO0+3 &2 -510 4.0 4.0 5 6 3vV-2 4Q 200 5.0 3.0
7 8 3NS-3 vA -150 4.0 4.0 5 6 4v0+3 &2 -510 4.0 4.0 7 8 4v V-2 %3 200 5.0 3.0
5 6 46 V+l #A -450 2.0 6.0 7 8 4vy0+3 v6 -510 4.0 4.0 1 2 2¢ N+1 vA 110 10 7.0
3 4 6NDN-3 +¢Q -500 0.0 8.0 9 10 4vy O+3 &2 -510 4.0 4.0 9 10 3¢ N= vA 110 10 7.0
1 - 4.6 1 - 4.6 1 - 4.6
4 4 E832 Basta kontrakt 5 4654 Basta kontrakt 6 47642 Basta kontrakt
Vast v73 2NT V =-120 Nord v K104 24 O =-110 Ost v KD10983 4¢ O =-130
Alla +93 NS *7 ov +D
#EK643 & ¢ v & NT #EK10962 & ¢ v & NT %102 & ¢ v & NT
a4 4KKn1096 N 4 4 3 4 4 4 DKn87 4K92 N75 445 4KKn3 4E85 N2 28565
v K92 vE1054 S55455 vE82 vD976 S75445 v4a v Kn6 S22855
¢ EKKN106 ¢ 72 088888 ¢ EKKNn3 ¢ 1085 O6 8887 ¢+ K9874 ¢ Knl103 O 9 105 7 6
#D1072 #85 vV 8882838 «D3 *Kn74 V688287 #EKn53 &KD764 V 9 105 7 6
« D75 «E103 « D109
v DKn86 v Kn53 vE752
+ D854 + D9642 + E652
#Kn9 %85 #98
Par Kontr ut Res  Poang Par Kontr Ut Res  Poang Par Kontr ut Res  Poang
3 23v0O-1 ] 100 7.0 1.0 3 22v0-1 »8 50 8.0 0.0 9 5 3vN-1 +K -50 8.0 0.0
6 1 2v0-1 L} 100 7.0 1.0 6 1 24S-1 ¢ A -100 5.0 3.0 3 2 4vyN-2 +J -100 6.0 2.0
11 8 2¢ V+1  &A -110 40 40 |11 8 2&#N-1 a2 -100 5.0 3.0 4 7 4ae V= vK -130 3.0 5.0
9 5 2¢ V+2 &A -130 2.0 6.0 4 7 3v0O= »8 -140 20 6.0 |11 8 440= vA -130 3.0 5.0
4 7 2NV +1 *A -150 0.0 8.0 9 5 INV+2 46 -150 0.0 8.0 6 1 44V+1l  ¢Q -150 0.0 8.0
10 - 3.2 10 - 3.2 10 - 3.2
7 4 Kn1064 Bésta kontrakt 8 4 D6 Bésta kontrakt 9 4872 Bésta kontrakt
Syd v93 3v V =-140 Vast v E86 34 V =-140 Nord vD 54 N =450
Alla ¢ DKn7 Ingen + D876 ov + EK1053
#E1085 & ¢ v & NT #K954 & ¢ v & NT #EKN76 & ¢ v & NT
4 K8 4 D72 N544605 4942 #EKKN1083 N 8 6 8 4 5 4 D5 443 N9 7 6 119
vEK64 vKn872 S54465 v1072 ¥D S 86845 vKKn763 vE54 S 97 6 119
¢E1084 ¢ K32 0799738 ¢ EK93 ¢ 1042 057 495 ¢ D92 ¢+ Kn8764 035724
#KKn2 #D63 V799738 D106 #Kn72 V57495 «D53 *K98 V3562414
& E953 475 & EKKNn1096
v D105 v KKn9543 v 10982
+ 965 ¢ Kn5 .-
*974 #E83 #1042
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
1 9 4v0-1 a A 100 5.0 3.0 1 9 4vS-1 *A -50 7.0 10 6 2 44 S+2 v3 480 8.0 0.0
7 3 4v V-1 +Q 100 50 30 |10 8 4vS-1 *A -50 7.0 10 7 3 44 S+1 v3 450 5.0 3.0
10 8 4v0O-1 s A 100 5.0 3.0 6 2 4vS-2 + K -100 3.0 50 |10 8 44 S+1 v3 450 5.0 3.0
11 4 49 0O-1 a A 100 50 30 |11 4 4vS-2 a2 -100 3.0 5.0 |11 4 34 S+3 &3 230 2.0 6.0
6 2 INV+2 »8 -150 0.0 8.0 7 3 340= v3 -140 0.0 8.0 1 9 34S+1 v3 170 0.0 8.0
5 - 4.0 5 - 4.0 5 - 4.0
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10 4 KD8 Basta kontrakt 11 4 ED107643 Basta kontrakt 12 ~ED9 Basta kontrakt
Ost vD2 3v O =-140 Syd v 7543 6v V =-980 Vast v EKn63 54 N =650
Alla + 9854 Ingen .- NS +D3
#E986 & ¢ v & NT *73 & ¢ v & NT #0872 & ¢ v & NT
4« EKn973 4106 N4 7 344 aKKn92  &- N25173 4 K874 45 N 118 9 1110
v6 vEKKn1085 S 4 7 3 4 4 vKKn986 vE102 S1516 3 vK72  v10985 S 118 9 1110
+ D7 ¢ Kn102 086 9 8 8 4103 ¢ EDKn2 O 118 126 9 ¢ 1054 98762 025423
#KKn542 #D10 V86 9 88 #Kn10 #EK9865 V 118 126 10 #654 #EDKn V25423
4542 # 85 » Kn10632
v 9743 vD vD4
+ EK63 + K987654 + EKKn
*73 »D42 #K103
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
3 11 44 V-3 +5 300 7.0 1.0 7 2 3¢4S-5 LN -250 8.0 0.0 9 6 44 S+1 v2 650 8.0 0.0
10 4 44 V-3 +9 300 7.0 1.0 3 11 4v V+2 aA -480 4.0 4.0 3 11 3NN+1 2 630 6.0 2.0
7 2 4v0-1 ¢ A 100 40 4.0 8 5 4v V+2 aA -480 4.0 4.0 7 2 3NN-= +9 600 2.0 6.0
8 5 2NV+1 +9 -150 2.0 6.0 |10 4 4vy V+2 aA -480 4.0 4.0 8 5 3NN= +9 600 2.0 6.0
9 6 2vV+2 #K -170 0.0 8.0 9 6 4vV+3 aA -510 0.0 8.0 |10 4 3NN= 2 600 2.0 6.0
1 - 4.7 1 - 4.7 1 - 4.7
13 4 EKD9763 Basta kontrakt 14 4 Kn32 Basta kontrakt 15 « D654 Basta kontrakt
Nord v7 6NT N =1440 Ost v5 5& SD-1-100 Syd vD10984 7¢ V =-1440
Alla + E1053 Ingen + KKn964 NS +92
&E & ¢ v & NT #ED82 & ¢ v & NT *62 & ¢ v & NT
4542 4108 N 8 12111212 « EK74 4 D9865 N 109 3 3 5 & Kn7 « EK83 N10611
v 108 v E932 S 8 12111212 vKn964 vEK873 S 109 3 3 5 vEK v3 S10611
4984 ¢+ D62 051211 ¢E72 +53 O 3 3 10107 + 864 ¢ EKDKn53 O 12137 1112
#K10975 #Kn632 v51111 #95 «10 vV 3 3 10107 #EKNn10853 #97 V 12137 1112
4 Kn 410 #1092
v KDKn654 vD102 v Kn7652
¢ KKn7 + D108 + 107
+D84 #KKn7643 »KD4
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
11 7 64 N= *2 1430 80 00 |11 7 3«N+1 ©vA 130 80 00 |11 7 3¢ O+4 &2 -190 8.0 0.0
5 4 44 N+2 43 680 5.0 3.0 8 1 5v0-1 aT 50 6.0 2.0 9 2 5¢0+1 v2 -420 6.0 2.0
10 3 44 N+2 &3 680 5.0 3.0 9 2 4¢ N-1 vA -50 4.0 4.0 5 4 3NV+2 v9 -460 4.0 4.0
8 1 5vS= +8 650 2.0 6.0 5 4 4v V= v5 -420 1.0 7.0 8 1 4NV +2 v4 -490 10 7.0
9 2 64S-1 »5 -100 0.0 80 |10 3 44 0= *6 420 10 7.0 |10 3 3NO+3 v¥5 -490 1.0 7.0
6 - 3.7 6 - 3.7 6 - 3.7
16  EKKn9 Bésta kontrakt 17 » EK10 Bésta kontrakt 18 » EK2 Bésta kontrakt
Vast v Kn109 2v N =110 Nord v EK94 6NT N =990 Ost v 752 4v O =-420
oV 972 Ingen ¢+ E54 NS + D54
#865 & ¢ v & NT *Kn75 & ¢ v & NT #Kn1084 & ¢ v & NT
« D105 4642 N6 887 6 a74 & Kn2 N 10129 1212 4D1043 &7 N57 376
vED3 v 654 S 68876 vKn10853 vD762 S 10128 1212 v 10943 v EDKn6 S57376
¢ 643 ¢ E85 075557 ¢ D92 ¢ Kn107 021411 + K76 ¢ Kn83 O 8 6 105 6
#EKn104 #D732 V75557 #843 #D1092 V21411 #53 #EKD62 V86 956
# 873 » D98653 » Kn9865
v K872 v- v K8
+ KDKn10 + K863 + E1092
*K9 *EK6 *97
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
7 10 24 N+1 &2 140 8.0 0.0 7 10 64 S= a7 980 7.0 1.0 7 10 4v V-2 s A 100 8.0 0.0
8 6 24 N-= 3 110 5.0 3.0 8 6 64S-= vJ] 980 7.0 1.0 5 3 4v0-1 a5 50 5.0 3.0
11 2 2¢ S+1 3 110 5.0 3.0 4 1 44 S+2 vJ] 480 30 50 |11 2 4vO-1 *9 50 5.0 3.0
4 1 INO= + K 90 1.0 7.0 5 3 44 S+2 vJ] 480 3.0 5.0 8 6 1lvO+2 &9 -140 2.0 6.0
5 3 INV= s 90 10 70 (11 2 74S-1 vJ] -50 0.0 8.0 4 1 4v V= s A -420 0.0 8.0
9 - 3.9 9 - 3.9 9 - 3.9
19 K94 Bésta kontrakt 20 a2 Bésta kontrakt 21 & Kn53 Bésta kontrakt
Syd v D65 54 SD-2-300 Vast v EKn5432 5NTV =-660 Nord v K942 64 O =-980
oV ¢+ E52 Alla + 1092 NS + D72
#8543 & ¢ v & NT *K94 & ¢ v & NT #1086 & ¢ v & NT
& Kn862 a5 NO9190 «ED1075 4984 N535 22 1098642 & EKD7 NO8 700
v 94 vEKKn8732 S 0 9 0 9 0 v D98 v K107 S53532 v 863 vE10 S08700
+D ¢ K76 O 103 113 7 76 ¢+ EDKn83 07 9 8 1011 4 Kn93 ¢+ K O 125 6 1211
#KDKn762 #E9 V 103 114 9 +D108 *E7 V79 8 1011 *2 #EKDKNn74 V 115 5 1211
« ED1073 » KKn63 .-
v10 v6 v DKn75
+ Kn109843 + K54 + E108654
»10 #Kn6532 #953
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
1 3 5aV-2 a4 200 8.0 0.0 4 6 44 V-3 vA 300 8.0 0.0 1 3 32a0+3 +¢A -170 8.0 0.0
9 8 44DS-1 v9 -100 6.0 2.0 1 3 4e4V-1 vA 100 6.0 2.0 4 6 44 V+2 2 -480 6.0 2.0
10 11 5¢DS-2 ¥9 -300 4.0 4.0 9 8 24 V+1 vA -140 4.0 4.0 9 8 44 V+3 v4 -510 4.0 4.0
5 7 4vO+1 &T -650 2.0 6.0 5 7 2¢vS-3 .7 -300 2.0 6.0 5 7 640= *A -920 2.0 6.0
4 6 4v O0+3 vT -710 0.0 8.0 |10 11 3NO+2 v6 -660 0.0 8.0 |10 11 64 V+1 v2 -1010 0.0 8.0
2 - 3.8 2 - 3.8 2 - 3.8
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22 4 E107542 Basta kontrakt 23 4 E52 Basta kontrakt 24 4~ E1098 Basta kontrakt
Ost v K109 4¢ SD-2-300 Syd v K1084 44 V =-620 Vast v 432 4v V =-420
ov +D Alla + 962 Ingen + D10
#Kn109 & ¢ v & NT #D85 & ¢ v &N #EKN72 & ¢ v & NT
4 K8 « DKn93 N28554 4 Kn109763 «KD84 N76 6 34 K543 46 N4 3374
vKn8763 vE S 28554 vKn5 vED32 S766 34 v10 vYEKDKN65 S 4 3 3 7 4
+9 ¢+ EKn86 O 105 7 8 9 ¢+ D4 ¢ Kn53 O6 5 7 108 + 86 ¢+ EK974 O 8 9 105 8
#ED432 #K875 V 105 7 8 9 *K107 &E9 V 6 56 108 #K98654 #10 vV 9 10106 9
46 a- 4 DKn72
v D542 v 976 v 987
+ K1075432 + EK1087 4 Kn532
*6 #Kn6432 «D3
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
1 7 3NO-2 46 200 8.0 0.0 3 6 240+2 A -170 6.0 2.0 3 6 3v0O+l #Q -170 7.0 1.0
10 2 24 N-2 vA -100 6.0 20 |10 2 24 O+2 +A -170 6.0 20 |11 5 3v O+1 #Q -170 7.0 1.0
3 6 32V+l ¢Q 130 40 4.0 |11 5 24 O+2 +A -170 6.0 2.0 |10 2 3vO+2 #Q -200 4.0 4.0
4 9 3NO= 2 -600 2.0 6.0 4 9 4e V= »5 -620 2.0 6.0 1 7 49 0= 2 Q -420 1.0 7.0
11 5 3NO+1 46 -630 0.0 8.0 1 7 44 V+1 v4 -650 0.0 8.0 4 9 4v 0= £Y0) -420 1.0 7.0
8 - 3.3 8 - 3.3 8 - 3.3
25 4 K32 Basta kontrakt 26 4 K6 Basta kontrakt 27 4 EKDKn10 Basta kontrakt
Nord v D75 34 O =-140 Ost vKnl0 7v OD-61700 |Syd v93 34 SD-1-100
ov + 1053 Alla + E1094 Ingen + EDKn92
#K1072 & ¢ v & NT #ED1074 & ¢ v & NT &D & ¢ v & NT
D87 4109654 N7 7545 4DKn83 45 N 137 6 109 4632 497 N4 8 486
vE82 vK643 S76545 vD9 vK865432 S 137 6 109 v EDKn65 vK87 S 48486
¢ 8742 ¢ EKn O56 89 8 ¢ DKn732 ¢ K85 0057 33 *4 ¢ K1063 095957
#DKn5 #E3 V56898 #Kn6 293 V05733 #EKn95  #10832 V95957
& EKn 4 E109742 4854
v Kn109 vE7 v 1042
+ KD96 +6 4875
#9864 »K852 *K764
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
5 10 24 O= vJ] -110 8.0 0.0 1 11 44 S= vQ 620 40 4.0 3 9 4v V-1 s A 50 7.0 1.0
1 11 24 0O+1  vJ -140 3.0 5.0 3 9 44 S= vQ 620 40 4.0 5 10 3v V-1 s A 50 7.0 1.0
3 9 240+1 +¢K -140 3.0 5.0 5 10 44 S= vQ 620 40 4.0 1 11 44 N-1 v7 -50 3.0 5.0
6 7 340= vJ] -140 3.0 5.0 6 7 44 S= vQ 620 40 4.0 6 7 34 N-1 v7 -50 3.0 5.0
8 2 24 0+1 +¢K -140 3.0 5.0 8 2 44 S= vQ 620 4.0 4.0 8 2 44 N-2 49 -100 0.0 8.0
4 - 3.3 4 - 3.3 4 - 3.3
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